
 

Rumus interpolasi 
a  = x                                                           LCF        = LBP/2 – LCF ( Draft Mean of Mean ) 
a’ = x’ 
b = y’                                                          DMTC = Draft Mean of Mean  + 50 
maka                                                                                                  Draft Mean of Mean  - 50 ( - )                                                    
 
x’ = y-x {(a’-a)/b-a)} 
 
misal 
1.30     =      2680 m/t                                                        Trim Correction :  1st = Trim x Tpc x Lcf x 100 
1.32     =       ?                                                                                                                       LBP 
1.40     =      2903 m/ t 
 
maka                                                                                                               2nd = Trim x Trim x Dmtc x 50                                       
x’         =      2903-2680 {(1.32-1.30)/1.40-1.30)}                                                                LBP 
            =      223   x  {( 0.02 )/0.10 )} 
            =      223   x {0.20} 
            =     44.6                                                                 Observed Density : 1.025 – Density Sea Water   
jadi                                                                                                                                    1.025                      x Displacement  
   
1.32     =     44.6 + 2680 
            =     2725 m/t. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


